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Section A (50 marks)

Answer ALL questions.
1 The table below gives information on the number of applications received for two
AO2  primary schools.
Complete the table.
Number of Number of | Ratio of applications
School . . :
applications vacancies to vacancies
Delta Primary 45 15 31l
Echo Primary 28 7 4:1 B1
(1]
2 (a)  Express 0.021 38 correct to 2 significant figures.
A01 0.021 Bl
AnSwer ... il ()
(b)  The number of students in a school hall is given as 200, correct to the nearest
AO2  hundred.
Write down the maximum number of students that could be in the school hall
at that time.
ASWE o [1]
3| y=3x+2 y=3x-2 y=—3x+2 y=-3x-2
AO2
The diagrams below show sketches of two of these lines.
Write the correct equation below each diagram.
Answer
yﬁk \y‘L
’ / /= ) . \\x
(2]
PartnerinLearning
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A 6 . Find the square root of 32 x 5* without using a calculator. Show your steps clearly.

Method 1: Method 2:

32 x 5% =(3 x 5%) x (3 x 5%) M1: Factors 32 x 5*=(3 x 5%)> M1: Factors
correctly grouped correctly grouped
into 2 groups. into 2 groups.

J3*x5* =3 x 52 Ifabove not seen, award M1 V3¥x5* =3 x 52 Ifabove not seen,
here if see this. award M1 here if

32 x5t =75 see this.

3 x5 =75
Answer ................... 7 5A1 ................ (2]
5 &
AO2
3
A 1B
A slide in the shape of the triangle ABC lies on the ground.
BC=3m,
The area of triangle ABC is 7.8 m”.
Find 4B.
% x AB x3=17.8 M1I: Form equation.
1.54B=1.8
1.54B _ 7.8
ia L5
AB=52m
Answer ............ L 2]
[Turn over
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6 Itis given that D = b* - 4ac.
Find the value of
(a) Dwhenb=-3,a=1andc=-2.
AO1
D=b~4ac
D= (-3 -4(1)(-2)
D=17
Answer D=............ T ]
(b) cwhenD=3,b=7anda=>3.
AO1
: D=} —dae
3=(7)®—4(5)c M1: Seen correct substitution.
3=49-20c
3-49=-20c
—46 =-20c
—46 _ —20c
=20 -20
23=c
c=23
23 Al
Accept 2 L1 :
ARSWET €= ... 0.2l
7  Consider these four numbers,
. T 7
= B3 5 ~242 5

(a)
AO1

(b)
AO1

write down the irrational number(s),

BOSWEL ..o iR BEETRS (1]

represent the four numbers on the below number line.
B1 mark for every 2 correct answers.  B1 mark for all 4 correct dots but above number line.
Each correct answer comprises of a B1 mark for all 4 correct dots but no label above dot.

solid dot and label.

?wl:l
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8 (a)  Factorise 3de + 9d% completely.
AO1
Answer ... 3D B ]
(b) Simplify 2 xmxv+mv+1.
AO1 2xmxv+mv+1
=2mv+mv+1 MI: Seen 2mv.
=3mv+1
+1 Al
Answer ......... st 2]
9  ABCD is a quadrilateral.
BC=7cm, ZABC=110°,AD =9 cm and ZBAD = 75°.
AB is drawn below.
Answer (a)
Q9(a) B1 for length BC.

B1 for length AD.

Deduct one mark:

e if length CD is not drawn,

e for any missing arc or

e if vertex C or D is not labelled.
e if no overshoot for AD or BC.

A B

(a) With the help of a pair of compasses, protractor and ruler,
AO1  construct the quadrilateral ABCD. [2]
Note: General Office's printing machine in 2021 enlarged AB from 8 cm to
(b)  Measure length CD. g1 ¢m, thus CD is (8.4 % 0.1) cm. If not, CD should have been (8.3 % 0.1) cm.
A0l 84+0.1=83t085 Bl
BEWEE ool L)

[Turn over
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10 (a) Express the following as a single fraction in its simplest form.

AO1
x+1 3 1-2x

4 3
x+l 1-2x
4 :
x4l 3 _1-2x . 4 M\i1: Find common denominator.
4 3 3 4
_ 3(x+1)-4(1-2x)
12
_ 3x+3-4%8x
12
_1lx-1
12
11x-1 Al
T A (2]
(b)  Solve 5y—13=3y+8.
AO1
5p-13=3y+8
5y —3y=8+13 MIl: Terms correctly collected on each side of equation.
2y=21
LA
2 2
y=10.5
10.5 Al
Accept 101.
ARSWEr Y= ..o 2]
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11 (a) A ceiling has an area of 120 000 cm?.
AO1  Convert 120 000 cm? to m>.
Method 1:

100cmx 100cm=1mx 1m
10000 cm?=1m? M1

Method 2:
120000 cm?=120000x 1 cm x 1 cm

120 000 cm? = 120 000 x b m x o m Ml

10 000 cm® _ 1m’ 100
10 000 10 000 120 000 cm? = 12 m?
lcm?= —— m?
10 000
120 000 x 1 cm?= 120 000 x m? Method 3:
0 000 1 1
2= 2 lemxlem= — mx — m
120 000 cm* =12 m 100 100
2= —— m? M1
10 000
120 000 x 1 cm? = 120 000 x m’
000
120 000 cm? = 12 m?
12 Al
BRRER s m’ 2]
(b) 1 litre of paint covers 16 m>.
AO2  Calculate the amount of paint needed to paint 11.2 m?.
Amount of paint needed
11.2
=— Ml
16
=0.71
0.7 Al
R — 112]
[Turn over
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8
A1(2)2 F Not to scale
D - C
43°
ABCD is a parallelogram.
ECF and BF are straight lines.

CE=CB, ZADC =43° and ZCBF =21°,
E is a point on AB.

Stating your reasons clearly, find ZEFB.
ZEBC = 43° (opp. Zs of //gram) MI1: Seen geometrical reason.
ZCEB = 43° (base Zs of isos. A) M1I: Seen geometrical reason.

/EFB = 180° —43° —43°—-21° (£ sum of A) M1: Seen geometrical reason.
ZEFB =173°

Deduct 1 mark for any
missing/wrong
geometrical reason
from above three.

Deduct 1 mark for two
or more non-standard
geometrical reason
from above three.

7
Answer ZEFB= °[4]

................................
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13  Straight lines AB and DE are drawn on the grid.

()
AO2

(b)
AO2

(c)
AO2

(d)
AO1

A
10 L2
9
8 A
7
6
5
4
3
2
1
B Ei
“ 123 45678 910~
Find the gradient of the line 4B.
Gradient
_ Vertical change
Horizontal change
"
4
=-2
-2 B1
i N  §
Write down the equation of the line AB.
Answer ... A (1]
Point C lies in the middle of line 4B.
Write down the coordinates of point C.
2 4 B1
LT — e ) [1]
Write down the equation of the line DE.
ARSWET o B 1]

[Turn over
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10
14 The diagram shows a circle, centre O.
AD is the diameter of the circle.
The area of the circle is 9.92251 cm?. A > D
ABCD is a rectangle.
E is a point on BC such that it touches the circle.
(a)  Show that the radius of the circle is 3.15 cm. B -
AO1 E
nr? =9.92257 Ml
nr’ _ 9.9225n
T T
1?=9.9225
r= /99225
r=3.15 cm (shown) Al
(2]
(b)  Calculate the perimeter of ABCD.
AO2
Length of ABCD
=6(3.15) M1
=18.9 cm
Answer _........... s
15 The following table of values is for a straight line y = — 5x + 4.
% -1 0 3
y P 4 -11
(a) Find the value of p.
AO1
Whenx=-1,
p=—5x+3
p=-5-1)+4
p=9
Answer p= ... ... J— (1]
(b)  On the grid on the next page, draw the graph of y = — 5x + 4 for the range
AOl1 -1<x<3.
2]
(c) Using your graph, find the value of x when y =—4.5.
AO1  Mark your working clearly on the grid. B1: Seen dotted line working

and answer labelled on grid.

dnser g 1t SAUT= L0010 L3 oy
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50 R T i U U T

; y == +4 P1 mark: All 3 points correctly

plotted.

f=]

X+ RN B L1 mark: Correct straight line

.00 .

formed from plotted points.
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16 (a) Inthe diagram, 4B is parallel to DE. F Not to scale
AO2 ZABC = 128° and ZEDF = 13°.

Stating your reasons clearly, find ZBCD.

-
-
-
-
-
-

Mark point G and line CG
as shown on diagram.

/BCG = 128° (alt. Zs, AB // CG) M1: Seen geometrical reason.

/FCG = 13° (corr. Zs, DE // CG) M1: Seen geometrical reason.

/ZBCD=128°+13°

ZBCD = 141°
Deduct 1 mark for any
missing/wrong
geometrical reason.
answer £BCD=_.. M1 AL ep
(b) R 5
AO3
Not to scale
123° 57°
» o
Drone P and drone Q are launched from the ground in the direction of R and §
respectively.
Stating your reasons clearly, explain whether their flight paths will cross one
another.

Their flight paths will not cross one another because they are parallel [B1] as

ZOPR + /PQS = 123° + 57° = 180° (int. Zs, PR // 0S). [B1: Seen geometrical reason. ]
............................................................................................................................. (2]

END OF SECTION A
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